%7O@EEX§§§957‘%*R%*%&% 2017/7/30
B B =®

M1-A | BEBAR | MBE | EEE mE | T | mEE | R | LN, | sxeE | e
@) X @) @) 3 — 1(10 — 2|21 — 5349 — 177
EBEBAN) 3 — 0|1 — 213 — 0|3 — o0 ( 2) ( 8 ) ( 16 ) ( 172 ) 2
6 — 3 — 5|6 - —
90 — 37|79 — 9090 — 0|9 — 50
X X O X i1 — 3|3 — 9|7 — 18(233 — 272
mEw |0 — 3 o — 3|3 — o]0 — 3 ( -2) ( -6 ) (-11) ( -39 ) 4
J— J— 6 J— J—
37 — 90 49 — 90|90 — 0|57 — 92
@) O O O 4 — Of11 — 1]23 — 31360 — 179
mEH |2 — 1|3 — 0 3 — 0|3 — o ( 4) ( 10 ) ( 20 ) ( 181 ) 1
5 — 3|6 — 0 6 — —
90 — 79|90 — 49 90 — 0 ]9 — 51
X X X X 0 — 4({0 — 12]/0 — 241 0 — 360
T - 3]l0 — 3]l0 — 3 0o — 3 ( -4) ( -12) ( -24) ( -360 ) 5
— 6 — 6 — 6 —
A—7v 1 0 — 90|l 0 — 90| 0 — 90 0 — 90
X (@) X O 2 — 2|6 — 6(12 — 113|283 — 237
yor—m 0 — 33 — 0|0 — 3|3 — 0 ( 0) ( 0) ( -1) ( 46 ) 3
— 6|6 — 1 — 6| 6 -—
50 — 90]92 — 57|51 — 909 — o0

1/ 11 R—=2




K% FORREREEFI77 s
e HAEMI—A)

HAEES: 1 (EFEBAA) vs EE)
£15: IIFNRAR-YtU4-

M1—A

EFEBAA) 3 — 0 & P
BHA & 15 — 6 AH R5B

D1 2 15 — 12| 0
He {E — ) By &3
ME =0 15 — 6 He FX

D2 2 15 — 4| 0
hik BEA — ) A%A &
=0 FEE 15 — 2 A FEER

D3 2 15 — 71 0
BE &= ] — X4t Bk

2/ 11 R=



K% FORREREEFI77 s
e HAEMI—A)

HERS: 2 (BAEA vs BEZ)

£15: IIFNRAR-YtU4-

M1—A
A—T>
Fitp=Nvic] 1T — 1 B
FiE RX 15 — 9 5,07 N 7 1)
D1 2 15 — 9
=l o E — =i BE
=K = 15 — 14 wnEe B
D2 1 10 — 15
s #ht 0 — 5 fERK Fid
£k EH 0 — 0 EH =
D3 0 0 — 0
N E— ] — we B

3/ 11 R=




R4

FIEIXR BEXRESEZE)77 ik
EH: HAE(M1—A)

HEHLS: 3 (EAEBAA) vs HT7—(A)

=15 IIFJNIRAKR-Ytv5—

BETHBA(A)

D1

D2

D3

=50 EE
hgk BA

BE &

HMHE 5T

B E%

fRE i

M1—A
3 — 0
15 — 3
15 — 12
15 — 9
15 — 11
15 — 8
15 — 7

4 /11 R—=2

M4
217



K% FORREREEFI77 s
e HAEMI—A)

HEES: 4 (MBEHEvs BERA)

£15: IIFNRAR-YtU4-

M1—A

EZR=Tic] 0 — 3 Licp= i

BA =ER 12 — 15 A B
D1 0 3 — 15| 2

AH #B — ) I #htb

ING BREE 9 — 15 fZix Eth
D2 0 13 — 15| 2

B BF ] — ) FiE RX

XKit Bk 4 — 15 =K =
D3 0 8 — 15| 2

ERR 3 - ml dEa

5/ 11 R=



R4 FIOEREREEFEFI7T7 i

FEH: H{EE(M1—A)

HMAES: 5 CARvs YU T—(A)

=15 IIFJNIRAKR-Ytv5—

D1

D2

EARAR R
D3
=P [

6/ 11 R=

M1—A
2 — 1
12 — 13
13 — 15
19 — 93
1 — 8
15 — 6
1 — 1

/N SREE

amp N
(110} /4
\ -~
” i
MEmE
N

KN =

T

INGA FDE



R4 FIOEREREEFEFI7T7 i

FEH: H{EE(M1—A)

HEES: 6 (EFEBAA) vs FEER)

=15 IIFJNIRAKR-Ytv5—

BETHBA(A)

HMHE =T

D1
hEk BA
Bha f&
D2
B FE=
Wl JEE
D3

=0 X%

7/11 R=

M1—A
1T — 2
10 — 135
12 — 15
/7 — 15
15 — 10
2 — 5
15 — 13
13 — 15
5 — 2

7= P

alll &3
LS hth

Il
>t
clit

\3
(4

FrE ®KX



K% FORREREEFI77 s
e HAEMI—A)

HEES: 7 (ABEHE vs BE)

£15: IIFNRAR-YtU4-

M1—A
A—T>
2Bl 0 — 3 B
H &X 10 — 15 ZH =
D1 4 — 15
A%HA & — we Bt
ING BRRE 4 — 15 we B
D2 8 — 15
By &3 — ERK FH
ANH @B 7 — 15 5,07 N 7 1)
D3 9 — 15
fERK I ] — B BE

8/ 11 R—=




R4 FIOEREREEFEFI7T7 i

FEH: H{EE(M1—A)

ARG 8 (BB vs Y T—(A)

=15 IIFJNIRAKR-Ytv5—

HE

Il
>t
ot

D1

N
St
=1
ot

> =&
B8,

>

D2
alll &3

EE =t
D3
g hth

9/ 11 R=

M1—A
3 — 0
15 — 8
15 — 9
15 — 9
15 — 8
15 — 10
15 — 7

KN =&

/MR SREE

INR FDAE

1Y)

N
A

FALY

& BX

¢



K% FORREREEFI77 s
e HAEMI—A)

HEES: 9 (EFBAA) vs JBE)
£15: IIFNRAR-YtU4-

M1—A
A—T>
BEFEBA(A) 1 — 2 HE
A =0 15 — 9 #]K Rttt
D1 2 15 — 12| 0
hix BEA ] — ) =i
BHE & 12 — 15 ZH =
D2 0 11 — 15| 2
B & — ) fEaK Ff
=0 EE 6 — 15 we B
D3 0 7 — 15| 2
BE & ] — AR Rt

10/ 11 R=Y



R4

=15 IIFJNIRAKR-Ytv5—

FIEIXR BEXRESEZE)77 ik
EH: HAE(M1—A)

AAES:

10 (EEH vs HT—(A)

[EZETui

D1

D2

D3

#E AR
B &3

INE AR

KA BIX

ERR 3

e E—

1M/ 11 R=

M1—A
0O — 3
12 — 13
11 — 15
6 — 15
15 — 12
1 — 5
4 — 15
8 — 15

YT —(A)

INGR D&

o

N
A

AN

& 'K

¢

KN =&

BiE L

/N SREE

L B2



